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< Richard Feynman One-electron universe, . "Nobel Lecture”. 4
The idea is based on the world lines traced out across spacetime by every electron. Rather than have myriad such
lines, Wheeler suggested that they could all be parts of one single line like a huge tangled knot, traced out by the
one electron. Any given moment in time is represented by a slice across spacetime, and would meet the knotted
line a great many times. Each such meeting point represents a real electron at that moment.

I received a telephone call one day at the graduate college at Princeton from Professor Wheeler, in which he

said, "Feynman, | know why all electrons have the same charge and the same mass" "Why?" "Because, they are

' ' all the same electron!"
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